Inverse Trigonometric Functions
Part - 2

ASSERTION AND REASON BASED MCQs (1 Mark each)

Directions: In the following questions, A statement
explanation of A.

- Both A and R are true but R is not cnrrec:tl
of Assertion (A) is followed by a statement of
Reason (R). Mark the correct choice as.
(A) Both A and R are true and R is the correct
explanation of A

£ 3 = . It
(B) Both A and R are true but R is NOT the correct Reason (R): Principal value of cot ! [ﬁ) is 3

explanation of A

(C) A is true bul R is false

un

Q. 3. Assertion (A): Principal value of sin ! ( %] i

Ans. Option (C) is correct.

(D) A is false and R is True Explanation:
) o L 2m) 2m 4 1 ._1.11:)
. 1. Asserti A) : — | =— SIN | —= | = SsIn | SIn—
Q ssertion (A): sin (51113] 3 [ﬁ) ( 1
- [
Reason (R): sin '(sin0)=0,if0e| —, =~ =
(R): sin”'(sin6) [ s :
Ans. Option (D) is correct. o ["‘T}J = 3
Explanation: )
T T <
The principal value branch of sin~'x is [—, —] oty = —=
Letx =sin 8 = 0 = sinlx _ [T
sin-l(sin 8) = sinlx = B -
: ; : =W I ( TC
= B — 9, fB o ¥ e | — t 2
sin—(sin 0) 1 E[ 5 2:| co L\E 3]
/
Hence R 1s true. = cot %I)
sin!| sin 2_11:) # ol since 8 & [j E] k.
3 3 z 3 2 j 2 — CDt_l {_Tl) — 2?11:
Hence A is false. 3
Hence Assertion is correct and Reason is
Q. 2. Assertion (A): Range of tanx is (%, g) incorrect.
Reason (R): Domain of tan™'x is R. Q. 4. Assertion (A): Range of cot ! x is (0, )

Ans, Option (B) is correct.

_ . Reason (R): Domain of tan x is R.
Explanation: Domain of tan x 1s the set {x: x eR

and x # (21 + 1) g , n e Z} and Range is R. 2NE, Cp6en [0) 18-C0Tredt

. Q. 5. Assertion (A): Principal value of cos™'(1) is &
=> tan x is not defined for odd multiples of o

Reason (R): Value of cos 0° is 1
If we restrict the domain of tangent function to

Ans. Option (D) is correct.

-T T . .
(?, E}, then it is one-one and onto with its

range as R. Actually tan x restricted to any of the Explanation: In case of Assertion:
. (—371: —n) [-n n) (n 31:) , cos (1) = y
intervals , N— = .| =s—| ele, 15
2 2 2 2 2 2 cosy = 1
bjjective and its range 1s R. cosy = cos0° [-cos 0° =1]
Thus tan'x can be defined as a function whose y =0

domain is R and range could be any of the
_3 _ﬂ.) [—E E) (TE 3?1) = Principal value of cos™ (1) is 0
: : and

inlervals = = ssertion 1s 1 .
( 2 ’ 7 > ’ 5 2r 7 Hence Assertion 1s in correct

SOON. Reason is correct.
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